R#TAL W53 =A - B - WEEROSHEHT 01

% Bk (SH15 108, AS15508. B3, CHasr30)

(1) y=sin’z (2) y=tan?x
(3)  y=(logx)’ 4)  y=(loggx)®
B)  y=e 6) y=e7
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g—z ZROX. (SH1710%, Atk15750%, Bik3r, Cik4r30% )

(1)  y=-cos’x (2)  y=tan®x
(3)  y=(logz)’ (4)  y=(logsz)?
(5) Y= 6(1272) (6) Y= 2(17:r)

© Bt - B L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

RE7TAN W5

=A - B - NHEROSHREMD 01 BREMES

% Bk (SH15 108, AS15508. B3, CHasr30)

(1) y=sin’z

y =2sinx * (sinz)’

=2sinx cosx

(3)  y=(logx)

y =2logz * (logx)
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(2) y=tan?x

y =2tanz * (tanx)’

_ 2tancx

cos? ¢
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(4) y = (logg x)3

y' = 3(logs 33)2' (logg =)’
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(6) y=eV?®
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Z—Z ZROX. (SH1710%, Atk15750%, Bik3r, Cik4r30% )

(1)  y=-cos’x (2)  y=tan®x

y' =2cosz * (cosx) y = 3tan?z - (tanx)’

- 2
= —2sinzcosz BR _ Stan"x EZ
cos?x
(3)  y=(logz)’ @) y=(log;x)*
y' = 3(logx)?* (logz)’ y' = 2logs x * (logs z)’
_ 2, 1 — N S
= 3(log x) . 2logs x TTog’
2 21 =
_ 3(log x) R _ 085 T ez
x xlog b
(5) Y = e(@’—2) (6) y = 20-2)
y = el@-o). (22 — ) y =20""10g 2+ (1 — )’
=2z — 1)e@ o) &KX =20-2)]og 2+ (1)

= —20-2)190g2 &KX
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